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QUESTION 1

Which scenario uses layout-oriented storage control?

A. Dimension check before moving to high-rack storage area
B. Staging before loading

C. Unloading before counting

D. Value-added service before putaway

Correct Answer: A

QUESTION 2

What do you influence with a resource group definition?

A. The work environment of the resource [either radio frequency or non-radio frequency]
B. The horizontal and vertical speed of a resource

C. The menu on the user\\'s mobile device

D. The queues a resource should process

Correct Answer: A

QUESTION 3

Which packing modes can you use to control the creation of pick-handling units ? Note : There are 2 correct answers to
this question.

A. Complex algorithm
B. Limit value

C. Consolidation group
D. Simple algorithm

Correct Answer: AD
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QUESTION 4

For a picking task , the system must determine the storage types from which to remove the stock. How does the system
find the storage type search sequence?

A. The system attempts to read the combination of warehouse number and stock removal indicator, then it uses the
combination of warehouse number and warehouse process type

B. The system attempts to read the combination of warehouse number, stock removal indicator, stock type , and
warehouse process type then it only uses the warehouse number

C. The system attempts to use the defined access strategy , then it uses the combination of warehouse number, stock
removal indicator, and warehouse process type

D. The system attempts to read a complete qualified entry , with all parameters and indicators , then it uses the defined
access strategy

Correct Answer: C

QUESTION 5

What you can do with a storage group?

Note : There are 2 correct answers to this question.

A. Use it to define a logical or physical breakdown of storage type
B. Assign it as an intermediate storage Group

C. Assign it to multiple storage bins

D. Use it process oriented and layout oriented storage control

Correct Answer: CD
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